
08-06-2025

Standard 5th Wheel 

A new camber tube is needed if retrofitting to the Standard 5th Wheel
 

Item Number Part Number Description Quantity
1, 2a, 3 - 10,
12 - 16, 18, 21 500589 5th Wheel Assembly Without Caster for 18" or

20" Rear Wheels 1

1, 2b, 3 - 10,
12 - 16, 18, 21 505262 5th Wheel Assembly Without Caster for 22" or

24" Rear Wheels 1

1, 2a, 3 - 18,
19a, 20, 21 500590 5th Wheel Assembly w/ 3" Rollerblade Caster for

18" or 20" Rear Wheels 1

1, 2b, 3 - 18,
19b, 20, 21 500600 5th Wheel Assembly w/ 4" Rollerblade Caster for

22" or 24" Rear Wheels 1

1, 2a, 3 - 18,
19c, 20, 21 505258 5th Wheel Assembly w/ 3" Lighted Rollerblade

Caster for 18" or 20" Rear Wheels 1

1, 2b, 3 - 18,
19d, 20, 21 505259 5th Wheel Assembly w/ 4" Lighted Rollerblade

Caster for 22" or 24" Rear Wheels 1



08-06-2025

Item Number Part Number Description Quantity
1, 2b, 3 - 18,
19e, 20, 21 505260 5th Wheel Assembly w/ 4 x 1.25" Soft Roll Caster

for 22" or 24" Rear Wheels 1

1, 2b, 3 - 18,
19f, 20, 21 505261 5th Wheel Assembly w/ 5 x 1.25" Soft Roll Caster

for 24" Rear Wheels 1

1 000593 5th Wheel Mounting Clamp 1

2a 000595 5th Wheel Mounting Arm 1

Used with 18" and 20" rear wheel sizes

2b 001313 5th Wheel Mount Long 1

Used with 22" and 24" rear wheel sizes

3 000594 5th Wheel Caster Housing 1

4 100530 Bearing M28 x 1/2" 6001RS 2

5 100682 Washer 1/2" .518 x .875 x .047 F/W Black Zinc 2

6 100900 1/2-13 NTE JAM NYL INS L/N HXFRE ZC 1

7 102005 Ki Caster Housing Cap 1

8 101123 M6 x 45 Low SHCS BLK ZC 1

9 101085 Mini-Wing M6 Tapped Knob 1

10 101081 5th Wheel Detent Button 1

11 000422 M6 x 56 Threaded Barrel 1

12 101120 M5 x 16 SHCS BLZ 2

13 101185 M6 x 14 CLS8.8 DIN7984 Low SHCS BLKZC 1

14 100658 M6 Nylock Nut Blk Zn 1

15 503822 Caster Fork 4", Std 5th Wheel 1

Contains 100545 fork with Removal and Installation
Instruction

16 101598 1/2-13 FIN HX JAM NUT ZC 1

17 100667 M6 x 12 BTN SHCS BLKZC w/Patch 2

18 101597 1/2-13 x 2-1/4 HH TAP BLT FULL THD ZC 1

19a 100790 Caster 3" Rollerblade 1

Used with 18" and 20" rear wheel sizes

19b 100791 Caster 4" Rollerblade 1

Used with 22" and 24" rear wheel sizes

19c 101140 Caster 3" Lighted Rollerblade 1

Used with 18" and 20" rear wheel sizes



08-06-2025

Item Number Part Number Description Quantity

19d 100952 Caster 4" Lighted Rollerblade 1

Used with 22" and 24" rear wheel sizes

19e 100809 Caster 4 x 1.25" Soft Roll 1

Used with 22" and 24" rear wheel sizes

19f 100807 Caster 5 x 1.25" Soft Roll 1

Used only with 24" rear wheel sizes

20 100792 Caster Spacer D8 x D12 x 10mm / Close Mount
Handrim Spacer 2

21 101563 M5 x 42 Low SHCS PT BLKZC 1


